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o] 12,800 12,800 0
= 3,087,079 2,854,037 183,042
Al 31,996,434 31,407,508 588,926
=YY Ll 8,209,002 8,048,442 160,560
= 733,165 852,988 A 119,823
p] 12,800 2,800 0
< 3,009,464 2,826,422 183,042
Al 4,453,573 4,356,232 97,341
sHsELH 78,144 126,248 A48,104
2 9,460 8,760 700
= 3,202 1,836 1,456
Al 65,392 115,652 A 50,260
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02 I 2SOl CH 8 K = = 9/ € Ab 2t B 0 50,000 A50,000
OSMauIIBAIL ST i 0 50,000 A50,000
HAse0 YsHA X 11,100 9,000 2,100
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Al 2,331 2,700 £.369
307 212+0| & 11,100 9,000 2,100
2 7,770 6,300 1,470
= 999 0 999
Al 2,331 2,700 £369
02 SIHFMAYEE 1,100 9,000 2,100
OFW =90 == N 11,100,000 11,100 9,000 2,100
2 7,770 6,300 1,470
= 999 0 999
Al 2,331 2,700 £.369
Husoo ISEE NUAY M2y 380 1,920 A1,540
2 190 960 ATTO
=) 57 0 57
Al 133 960 ~827
201 Yot Fh| 380 1,920 A1,540
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= 231 345 A114
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< 772 993 A221
Al 1,801 2,318 A517
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M oAH SO Y ZILXE 2,422 3,633 A1,211
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Al 1,867 0 1,867
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70,000,000& 70,000 0 70,000
& 21,000 0 21,000
Al 49,000 0 49,000
ERaE R 2,382,374 2,456,955 AT4,581
= 418,473 528,282 A 109,809
J| 12,800 12,800 0
< 639,871 595,756 44,115
Al 1,311,230 1,320,117 A 8,887
StueR SAXNEAY 640,701 840,701 200,000
= 384,420 504,420 A 120,000
< 38,442 50,442 A 12,000
Al 217,839 285,839 268,000
301 et 4= 640,701 840,701 200,000
= 384,420 504,420 A 120,000
< 38,442 50,442 A 12,000
Al 217,839 285,839 A 68,000
12JE 24 = 640,701 840,701 200,000
OstueR34 XNEAY 640,701,000& 640,701 840,701 200,000
= 384,420 504,420 A 120,000
) 38,442 50,442 A 12,000
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GOt R+==4t= stuaga KA 850,000 750,000 100,000
=) 425,000 375,000 50,000
Al 425,000 375,000 50,000
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= 99,000 99,000 0
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= 4 4 0
Al 39 10 29
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2 15 15 0
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Al 39 10 29
12 JIEtE 4 2 58 29 29
OAFE 2= K& 58,0002 58 29 29
2 15 15 0
< 4 4 0
Al 39 10 29
R4, RIIse ZH(PX)2Y 76.381 67.297 9,084
101 Q124 B 74,421 66,297 8,124
04 JIAHMI2NSEE S 74,421 66,297 8,124
ORY,RIss Ze(PxE) 22X A 56.815 50,052 6,763
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—oA224y
1,6802 *4Al 2k 1. 58 3% 90 2,722 1,361 1,361
201 L2 1,960 1,000 960
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O%iiel A 28 T/F STX Ast
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ey 2y A 26,081,086 25,926,353 154,733
301 LB A3 1,339,659 1,378,226 738,567
12 JIE2 43 1,339,659 1,378,226 38,567
ORIISAX MU NS
1, 10021 +260, 960Kg 287,056 337,056 50,000
OS&M 82 A2 NS 1,5682+7,276Kg 1,409 19,276 AT,867
OBMDEAL SA4TA N 141,700,000 141,700 122,400 19,300
308 XHXI €A S 01 & 24,740,867 24,547,567 193,300
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01 At 22l 21,546 22,680 A1,134
ORAM2EII23H 21,546 22,680 A1,134
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